KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL F

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30742	API No. 15 - 135-24606-0000
Name: Palomino Petroleum, Inc.	County: Ness
Address: 4924 SE 84th St.	S/2 - SE - SW Sec. 35 Twp. 16 S. R. 25 East V West
City/State/Zip: Newton, Kansas 67114-8827	330 feet from S / N (circle one) Line of Section
Purchaser: None	1830 feet from E / (W)(circle one) Line of Section
Operator Contact Person: Klee R. Watchous	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 799-1000	(circle one) NE SE NW (SW)
Contractor: Name: Southwind Drilling, Inc.	Lease Name: Burrell Well #: 1
License: 33350	Field Name: None (Wildcat)
Wellsite Geologist: Robert A. Schreiber	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 2465 Kelly Bushing: 2475
✓ New Well Re-Entry Workover	Total Depth: 4513 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 218 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	D. W. Flide M. D. D. D. A. J. J. J. W. (2-2) 28
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan PA AI+ II NH 6-30-88 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Eccation of fluid disposal if fladied offsite.
Other (SWD or Enhr.?) Docket No	Operator Name:
2/10/07 2/18/07 2/18/07	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workd Information of side two of this form will be held confidential for a period of	ith the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-gs and geologist well report shall be attached with this form. ALL CEMENTING IIs. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations premulgated to regulation are example to an accordance to the best of mythnowledge.	ulate the oil and gas industry have been fully complied with and the statements
Signature: Ver Muchon	KCC Office Use ONLY
Fitle: President Date: March 6, 2007	Letter of Confidentiality Received
Subscribed and sworn to before me this 6th day of March	If Denied, Yes Date:
20 07	Wireline Log Received RECEIVED
Votary PUBLIC State of Walsas Inuclination Carla R. P.	Geologist Report Received UIC Distribution MAR 0 7 2007
CARLA R. PENWELD ctober 6, 2009	KCC WICHITA

Operator Name: Palo	mino Petroleum	, Inc.		Leas	se Name:_	Burrell		Well #: 1		
Sec. 35 Twp. 16	S. R. <u>25</u>	Eas	st 🗸 West		nty: <u>Ness</u>					
INSTRUCTIONS: She tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowin overy, and flow rate	g and shues if gas to	it-in pressures, o surface test, a	whether along with	shut-in pre	essure reached	static level, hydi	rostatic pressu	res, bottom hole	
Drill Stem Tests Taken (Attach Additional S		✓ \	∕es		√ L	og Format	ion (Top), Depth	and Datum	Sample	
Samples Sent to Geol	logical Survey	7 Y	∕es ⊡No		Nam			Top	Datum	
Cores Taken	3	\		*	Anhy	Anhy.		1838 1866	(+ 637) (+ 609)	
Electric Log Run		<u> </u>			Tope	•		3542	(+ 009) (-1067)	
(Submit Copy)					Heel			3811	(-1336)	
List All E. Logs Run:					LKC			3850	(-1375)	
Radiation Gua	rd				BKC			4149	(-1674)	
riadiation dua	IG					naton		4198	(-1723)	
					Paw			4277	(-1802)	
			CASING	RECORD					(1002)	
		Repo	ort all strings set-			_	ction, etc.		,	
Purpose of String	Size Hole Drilled		ze Casing et (In O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12 1/4"	8 7/8"		20#		218'	Common	160	2% gel, 3% c.c.	
					•					
		1	ADDITIONAL	CEMENT	TING / SQL	JEEZE RECORI	<u> </u>		1	
Purpose:	Depth	Type	e of Cement		ks Used	LLZL TILOOTII		Percent Additives		
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom	,,,,,	o or other	"Gaoi			Type and	Tercent Additives	•	
		L							:	
Shots Per Foot	Shots Par Fact PERFORATION RECORD - Bridge Plugs Set/Type					Acid, Fracture, Shot, Cement Squeeze Record				
	Specify Footage of Each Interval Perforated					(A	mount and Kind of M	laterial Used)	Depth	
								·		
·									•	
TUBING RECORD	Size	Set At		Packer	At	Liner Run	Yes 🗸 No			
Date of First, Resumerd I	Production, SWD or E	nhr.	Producing Met	nod					0	
					Flowing	Pumpi	ng 🔲 Gas Li	ft Othe	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	r B	bls. (Gas-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF C	OMPLETIC	DN			Production Inter	val		RECEIVED	
Vented Sold (If vented, Subr	Used on Lease mit ACO-18.)		Open Hole Other (Speci	Pei	rf. D	uaily Comp.	Commingled		MAR 0 7 2007	

KCC WICHITA

LOGS

Ft. Scott	4350	(-1875)
Cherokee Sh.	4374	(-1899)
Rew. Miss.	4448	(-1973)
Miss.	4462	(-1987)
LTD	4513	(-2038)

RECEIVED
MAR 0 7 2007
KCC WICHITA

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

RECEIVED

FEB 2 6 2007

*

INVOICE

Invoice Number: 106672

Invoice Date: 02/23/07

Sold Palomino Petroleum , Inc.

To:

and .

4924 SE 84th St.

Newton, KS 67114-8827

Cust I.D....: Palo

P.O. Number..: Burrell #1 P.O. Date...: 02/23/07

Due Date.: 03/25/07 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	153.00	SKS	10.6500	1629.45	т
Pozmix	102.00	SKS	5.8000	591.60	T
Gel	14.00	SKS	16.6500		T
FloSela	64.00	LBS	2.0000	128.00	T
Handling	271.00	SKS	1.9000	514.90	
Mileage	24.00	MILE	24.3900	585.36	
271 sk s@.09 pe	er sk per mi				_
Rotary Plug	1.00	JOB	815.0000	815.00	Т
Mileage pmp tkr	24.00	MILE	6.0000	144.00	
All Prices Are Ne	et, Payable 30 Days Fo	llowing Sub	total:	4641.41	
	1 1/2% Charged Therea	_	:	245.99	
	T take Discount of		ments:	0.00	
	in 30 days from Invoi		al:	4887.40	
-	-		• • • • •	2007.10	

MAR 0 7 2007 KCC WICHITA

ALLIE CEMENTING O., INC.

2658

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

ROSS	DDD, IX II.	10110 0700						_	/ V	
DATE 2-18-07	SEG 5	TWP	RANG	E 25 u	CA	LIED SIE	ON LOGATION		70m	JOB FINISH
Burrell	WELL#	1	LOCA	TION A	nerd	Iwan.	GE NE		NTY	STATE 6
			Doc.	1101, , , .		, , , , , , , , , , , , , , , , , , , ,	7			
OLD OR NEW (Cir	rcie one)	<u> </u>	ļ			<u> </u>	· · · · · · · · · · · · · · · · · · ·			
CONTRACTOR	South	delin	of.	Rigl		OWNER T	ahomir	10	Petr	
TYPE OF JOB	Rota		Phag			<u> </u>				•
HOLE SIZE	ДОГ	T.D.		4515	SH	CEMENT		-6	D , 6	~ 0
CASING SIZE		DEF	тн			CEMENT AMOUNT ORI	DERED 23	5 3	5 60	-gal
TUBING SIZE		DEF					1,#	Flos-	ea.P	
DRILL PIPE	43	1 1		1870	11	•	-4			
TOOL		DEF								
PRES. MAX		MIN	IIMUN	И		COMMON	1534	@_	10.65	1629.45
MEAS. LINE		SHO	E JOI	NT		POZMIX	102 sep	@_	5.80	
CEMENT LEFT IN	VCSG.					GEL	14 A4		16.65	233.10
PERFS.						CHLORIDE _		@_		
DISPLACEMENT	·					ASC	4 . (16-	@		
	EOU	IPMENT		•		HOSEAL	64 ±		200	12800
								@		
PUMP TRUCK	CEMENT	ED ///	ik	111				@		· · · · · · · · · · · · · · · · · · ·
	HELPER	<u> </u>	7)	D.				@	<u> </u>	
BULK TRUCK	TIELFER		11					@-		
~/ 1 /	DRIVER	\tilde{I}	on	D.				@_		
BULK TRUCK	DKIVEK		177	, ,,,				@-		
	DRIVER					TIANDI INC	271 sek		1.90	51490
π	DICIVER					HANDLING_ MILEAGE	2.71 set.	- A-/ \	1.70 24	585.36
						MILEAGE	C/1/4.	<u></u>		
	REI	MARKS:							TOTAL	3682.4
30 AR 6	2/ 18	10 11								
80 1k .	at 113	10 uff					SEI	RVICE		
40 MR a	1 50	o fl					10	7.0		
Mosk a	1 25	off				DEPTH OF JO		70 4	7	600
20 sk å	1 60	A.				PUMP TRUCI				8500
10 sk at	mF	+				EXTRA FOOT		,	/ 40	
15 st at	KH					MILEAGE		@ 	6.00	144:00
						MANIFOLD _		@ @		
								@		
	P,		(ii)					@		
CHARGE TO:	akon	nino	<u> </u>	etrole	um				TOTAL	959,00
STREET									TOTAL	137.00
									,	
CITY	ST	TATE		_ZIP		•	PLUG & FL	OAT E	UIPME	NT
,				1						
,				Tho	XOU			@		
				/"				@		
				7	YOU			@		
To Allied Cemer				C	40			@		
You are hereby	requested	to rent ce	menti	ng equipn	ient			@		
and furnish cem	enter and	helper to	assist	owner or						
_contractor.to.do	work as i	s listed. 7	The ab	ove work	_was		The same of the sa	e e e	TOTA	==================================
done to satisfact	tion and su	upervision	of ov	vner agen	t or				10111	
contractor. I has					AND	TAX				
CONDITIONS'	' listed on	the revers	se side	e.						
•						TOTAL CHA	RGE ——			- 410:1-4-
	_					DISCOUNT -			IF PA	ID IN 30 DAY
	\wedge	Λ		_			_		• •	to the diag
	1) m	- W -	Inn	1		Dan	, Qah	PM	< .	ECEIVE .
SIGNATURE	100	1		<u> </u>	 	Ton	3 100 E	INTER	NAME	ECEIVE
		♥					~ PK	TIMIED	TAVIATE	

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

RECEIVED

FEB 1 7 2007

* *********

Invoice Number: 106511

Invoice Date: 02/14/07

Sold Palomino Petroleum , Inc.

To: 4924 SE 84th St.

Newton, KS 67114-8827

Cust I.D....: Palo

P.O. Number..:

P.O. Date...: 02/14/07

Due Date.: 03/16/07 Terms...: Net 30

item i.D./Desc.	Qty. Used	Unit	Price	Net	ΤX
Common	160.00	SKS	10.6500	1704.00	Т
Gel	3.00	SKS	16.6500	49.95	\mathbf{T}
Chloride	5.00	SKS	46.6000	233.00	T
Handling	168.00	SKS	1.9000	319.20	E
Mileage	24.00	MILE	15.1200	362.88	E
168 sks @.09 pe	er sk per mi				
Surface	1.00	JOB	815.0000	815.00	E
Mileage pmp trk	24.00	MILE	6.0000	144.00	E
Head Rental	1.00	PER	100.0000	100.00	E
Wooden Plug	1.00	EACH	60.0000	60.00	Т

All Prices Are Net, Payable 30 Days Following
Date of Invoice. 1 1/2% Charged Thereafter.

If Account CURRENT take Discount of 378.80
ONLY if paid within 30 days from Invoice Date

Subtotal:

Tax....:
108.49
Payments:
0.00
3896.52

MAR 0 7 2007 KCC WICHITA

ALLIE CEMENTING O., INC.

26388

REMIT TO P.O. BOX 31 SERVICE POINT: Great Bend **RUSSELL, KANSAS 67665** RANGE ON LOCATION JOB START CALLED OUT 11:00PM LEASEDWAL WELL# OLD OR/NEW (Circle one) OWNERPALAMINO **CONTRACTOR** TYPE OF JOB HOLE SIZE 12/2 T.D. 22 AMOUNT ORDERED 66 SX Common 3%CC CASING SIZE 8 % DEPTH 26 2º10 Gel **TUBING SIZE DEPTH** DRILL PIPE 4 TOOL 206 # 155 @ 10.65 1704.00 COMMON_160al PRES. MAX **MINIMUM** MEAS. LINE SHOE JOINT **POZMIX** CEMENT LEFT IN CSG GEL 3 44 CHLORIDE @ <u>4660</u> SAL 181365 OF Reshwater ASC_ @ **EOUIPMENT** @ CEMENTER **PUMP TRUCK** @ # 120 HELPER BURNAON @ **BUĽK TRÚCK** @ DRIVER Steve # 260 @ **BULK TRUCK** (a) **DRIVER** @ 490 HANDLING_ 168 W MILEAGE _ 168 sy E0.P43S LATOT 3% CC, 2% Gel **SERVICE** DEPTH OF JOB DA PUMP TRUCK CHARGE **EXTRA FOOTAGE** @ MILEAGE @ 600 MANIFOLD Head lent @ 100.00 100.00 TOTAL 1059.00 STREET CITY_ STATE PLUG & FLOAT EQUIPMENT @ @ To Allied Cementing Co., Inc. @ You are hereby requested to rent cementing equipment @ and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was TOTAL 60.00 done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND TAX_ CONDITIONS" listed on the reverse side. **过的过程的** Lobedots TOTAL CHARGE IF PAID IN 30 DAYS **DISCOUNT** 4ECHAE